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Questionl:-Which of the following statements about Sahodaran Ayyappan is/are
correct?

(i) In 1933, Ayyappan started a newspaper called 'Velakkaran'.
(ii) He became a member of Cochin Prajamandal.

(iii) He fully supported Hindu Mahamandal formed by Mannath Padmanabhan and
R. Sankar.

(iv) He took initiative to begin 'Yuktivadi' journal along with K. Rama Varma
Thampan.

A:-Only (i), (i) and (iii)
B:-Only (ii), (iii) and (iv)
C:-Only (i), (ii) and (iv)
D:-Only (iii) and (iv)
Correct Answer:- Option-C
Question2:-Which of the following is not a book of Vagbhadananda?
A:-Sivayogavilasam
B:-Abhinavakeralam
C:-Atmavidyakahalam
D:-Darsanamala
Correct Answer:- Option-D

Question3:-Match the following statements and years about Poikayil Appachan.
Which of the following option is correct?

Statements Year
(a) Appachan joined in Sadhujana Paripalana Sangam (1) 1909
(b) He started PRDS in (2) 1921
(c) He was nominated to Sree Mulam Prajasabha in (3) 1907

A:-(a)-(1), (b)-(2), (c)-(3)
B:-(a)-(3), (b)-(1), (c)-(2)
C:-(a)-(2), (b)-(1), (c)-(3)
D:-(a)-(1), (b)-(3), (c)-(2)
Correct Answer:- Option-B

Question4:-Which of the following statements about Swadeshabhimani
Ramakrishna Pillai is/are correct?



(i) He was the editor of newspapers, Kerala Darpanam and Malayali.

(ii) Ramakrishna Pillai severely attacked the autocratic policies of the Dewan P.
Rajagopalachari.

(iii) He was elected without contest to Sri Mulam popular assembly in 1910.

A:-Only (i)

B:-Only (ii)

C:-Only (iii)

D:-All three statements are correct
Correct Answer:- Option-D

Question5:-Who wrote the famous pamphlet, 'Travancore for the Travancoreans' in
the context of Malaylai memorial?

A:-Dr. Palpu

B:-Barrister G.P. Pillai

C:-Mannathu Padmanabhan
D:-Swadesabhimani Ramakrishna Pillai
Correct Answer:- Option-B

Question6:-Match the following leaders of Indian freedom movement and their
books. Which is the correct answer?

Leaders Books

Aurobindo Ghosh (i) Bhagavadgita Rahasya

Subas Chandra Bose (ii) Glimpses of World History

Bal Gangadhar Tilak  (iii) The Life Divine

Jawaharlal Nehru (iv) The Indian Struggle

A:-(a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)
B:-(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
C:-(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
D:-(a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)
Correct Answer:- Option-B

(a
(b
(c
(d

Question7:-Consider the following events in Indian freedom movement and
chronologically arrange them. Which is the correct chronologically arranged option?
(i) The Cripps Mission

(ii) The INA captured Imphal and Kohima

(iii) The August offer

(iv) The Quit India Movement

A:-(i), (iii), (i), (iv)
B:-(i), (ii), (iv), (iii)
C:-(iii), (ii), (i), (iv)
D:-(iii), (i), (iv), (ii)
Correct Answer:- Option-D

Question8:-A notable episode which attracted the attention of the whole country in
connection with the Indian freedom struggle was the arrest and trial of Mrs. L.S.



Prabhu of Tellicherry. This incident is associated with
A:-Quit India Movement
B:-Civil Disobedience Movement
C:-Malabar Rebellion
D:-Communist Movement
Correct Answer:- Option-B
Question9:-The revotionery Lala Har Dayal is associated with
A:-H.S.R.A.
B:-Alipore Conspiracy case
C:-Ghadar Party
D:-Lahore conspiracy case
Correct Answer:- Option-C
Question10:-The second President of Indian National Congress is
A:-Badruddin Tyabji
B:-George Yule
C:-Dadabhai Naoroji
D:-Annie Besant
Correct Answer:- Option-C

Question11:-Which is the indigenous beyond visual range air-to-air missile
(BVRAAM) successfully conducted flight test recently by DRDO and IAF?

A:-Agni-V

B:-Brahmos

C:-Nag

D:-Astra

Correct Answer:- Option-D

Question12:-Which National Park in Kerala has emerged as the highest - scoring
individual protected area in the Management Effectiveness Evaluation carried out
by the Union Ministry of Environment, forest and climate change for 2020-2025?

A:-Silent Valley
B:-Eravikulam
C:-Mathikettan Shola
D:-Anamudi Shola
Correct Answer:- Option-B
Question13:-Where is the famous hill station Mount Abu located?
A:-Rajasthan
B:-Himachal Pradesh
C:-Uttarakhand



D:-Meghalya
Correct Answer:- Option-A
Questionl4:-Who is the present Chairman of ISRO?
A:-K. Sivan
B:-S. Somanath
C:-K. Radhakrishnan
D:-V. Narayanan
Correct Answer:- Option-D

Question15:-Which constitutional Amendment added the term 'Secular' to the
preamble of the Indian constitution?

A:-44th Amendment
B:-42nd Amendment
C:-52nd Amendment
D:-36th Amendment
Correct Answer:- Option-B

Questionl6:-Regarding the implications of learning theories for Mathematics
teaching.

(i) Bruner's Enactive - Iconic - Symbolic modes suggest introducing abstract
symbols only after concrete manipulatives.

(ii) Vygotsky's ZPD implied group work should pair students with identical current
ability levels.

(iii) Piaget's Concrete Operational stage necessitates avoiding abstract algebraic
concepts before adolescence.

Which of the above statements is/are correct?

A:-Only (i)

B:-Only (i) and (ii)

C:-Only (i) and (iii)

D:-All (i), (ii) and (iii)
Correct Answer:- Option-A

Questionl7:-Concerning Pedagogical Analysis in Mathematics:

(i) Its primary need is to ensure strict adherence to the textbook sequence.
(ii) A key principle is identifying prerequisite concepts for a new topic.

(iii) It significantly aids in anticipating student misconceptions.

Which statements accurately reflect its Need/Principles?

A:-Only (ii)

B:-Only (ii) and (iii)
C:-Only (i) and (iii)

D:-All (i), (ii) and (iii)
Correct Answer:- Option-B

Question18:-About NCF 2005's influence on Mathematics curriculum:



(i) 1t emphasizes shifting focus from procedural fluency to memorization of
formulas.

(ii) It recommends connecting Mathematics to real-life situations and other
subjects.

(iii) It advocates reducing curriculum content to enable deeper understanding.
Which of the above align with NCF 2005 recommedations?

A:-Only (ii)

B:-Only (ii) and (iii)
C:-Only (i) and (iii)

D:-All (i), (ii) and (iii)
Correct Answer:- Option-B

Question19:-Regarding Continuous and Comprehensive Evaluation (CCE) in
Mathematics :
(i) It primarily aims to rank students for competitive examinations.
(ii) Formative assessment under CCE focuses on providing feedback for learning
improvement.
(iii) Diagnostic testing is an integral part for identifying specific leaning gaps.
Which statements correctly describe CCE?

A:-Only (i)

B:-Only (ii)

C:-Only (ii) and (iii)

D:-All (i), (ii) and (iii)

Correct Answer:- Option-C

Question20:-On the principles of planning Mathematics instruction at the Secondary
level:

(i) Ausubel' Advance Organizers should be highly abstract concepts unfamiliar to
students.

(ii) Gardner's Ml theory implies using diverse activities (e.g. logical puzzles, spatial
diagrams, real-world projects).

(iii) Addressing individual differences necessitates teaching exclusively through
individualized worksheets.

Which principles are correctly interpreted?

A:-Only (i)

B:-Only (ii)

C:-Only (i) and (ii)
D:-Only (ii) and (iii)
Correct Answer:- Option-B

Question21:-%3> ©03nded BeoRTIT 2,080 3¢5° TIR [T BVOBNY DT YUB-3es° NYFD
BSOOLTWBIEBO?

A:-120
B:-720
C:-968



D:-a3)i¥e) cdmgBe g

Correct Answer:- Option-C
Question22:-'A’ 8 7 ©03nIE3, A IQ SeI0RITIWE 237 FBPTI0D 0 0TI ST
£903NY3?

A:-7

B:-14

C:-49

D:-21

Correct Answer:- Option-A
Question23:-jx =252 sSNIT, /) ago?

A:-2

B:-1

C:-1/2

D:-2:3)n¥® odogite g

Correct Answer:- Option-B
Question24:-Be0D0E F0T BBEIS DY 0BNY F30NCES cbgio 3033?{&%9@"?

A:-125
B:-120
C:-720
D:-a3)i¥e) odmod@se g

Correct Answer:- Option-D
Question25:-sin(15°) ® 550%) DFV?
P31
242

. V341
B:-24

C:-
D:-22
Correct Answer:- Option-A
Question26:-« 3> » N1 <i-sst2=0 BNGT, i+ B IPQ agd?
A:-1
B:-2
C:-1/2
D:-a)i¥e) odmo3@se g

Correct Answer:- Option-B



Question27:-33a3 Deerrsy) BT 22303 AOBTAZT, BT D98 DF?
A:-2
B:-4
Ci-n
D:-8
Correct Answer:- Option-D
Question28:-10 e, x 10 oe. x 5 oe. 8¥dadd Fyeoniednd WORVBITE B8 BoedT eug
DRV?
ed
A:-14 doe.
B:-15 Qoe.
C:-16 Qoe.
D:-18 Qoe.

Correct Answer:- Option-B
Question29:-0ex0 1.5 Qoe. 2F0XFT, 22 doe. H30F feeoxgy 20.5 oe. Bweshod
SRcBDar VBT HIVH BReE STO?

A:-15°

B:-a0°

Ci-as°

D:-a)i¥e) odmed@se g

Correct Answer:- Option-C

Question30:-5 Fo.oe. ugd 33% PV $T0T [00E 00BN FIOIWBOIWE 3¢ BT
R895900 AA0BEOR HVI0e0 cbg\\)?

A:-37.27 F0.Qoe.s
B:-24.54 Zo0.oe.s
C:-34.72 Z0.Qo¢.3
D:-a3)i¥e) odmodBe g

Correct Answer:- Option-D
Question31:-geHar 0T 'a' Do '1' T BOF e PoxsnoNGT, 'a’ 8 F0gI=readd wﬁ%)mfo
0dos)3)?

A:-0 &1

B:-1

C:-1, -1



D:-a3)i¥e) cdmgBe g

Correct Answer:- Option-C
Question32:-¢ (1000) 20200@0 030ROTE Fo0F. ¢+ © m’aeg cbq_"é\)?

A:-1000
B:-500
C:-400
D:-200
Correct Answer:- Option-C
Question33:-88 3¥NIIHNYY 03030 qﬁngéss Soa% 9e)?

A:-3
B:-17
C:-257
D:-9
Correct Answer:- Option-D
Question34:-Bedeodd ITFRIR[IONVS 105=3(mod7) B BOHBAO (Solution) 03oexHo?

Ai-c= 1(mod7)
B:-a:EZ(mod?)

C:-z=1(mod10)

D:-a3)i¥e) odmo3Be g

Correct Answer:- Option-A
Question35:-a 3 b mazpax)ﬁ ﬁoajaﬁe.i) a2-p2 eaé:)zpag 30352503337@6,&2_52:

Ai-atb

B:-a-b

C:'ab

D:-1

Correct Answer:- Option-A
Question36:-4=[11] 8NGT, 24244111 S d)’a%) DFO?

Ai-242481

B:-0

Ci-3424111

D:-a)i¥e) odmo3@e g

Correct Answer:- Option-A

Question37:-4=[** 75| 8NET (3" & (Conjugate transpose) 3¢ o507



A o)
B:{ %%,
C:-Pgﬁi 612@]
D:-a:3)n¥® odoogite g
Correct Answer:- Option-C
Question38:-A 20wBY 2,080 ©w =BIkdT* 8NT. |A| =

A:-0, 1
B:-1, -1
C:-2, -2

D:-a3)i¥e) odso3@se g

Correct Answer:- Option-B

Question39:-AeRTVS Bo9kds’ R SPQNY GUIT dRV?
~N b5) K ed

[%, 3 i’]
312

A:-4

B:-12

C:-5

D:--12

Correct Answer:- Option-D
Question40:-Qe&0os B93g* BQ Jeed D7

|

Ittt
BB =
COLINI -
HR ORI =
W QIR =

A:-2
B:-3
C:-4
D:-a3)i¥e) odmo3@se g

Correct Answer:- Option-C
Question41:-rt,,.XSini=-

A:-0

B:-1

Ci-0

D:-Q03009

Correct Answer:- Option-B
Question42:-rt, o (=4et)=7?
A:-1

s _atbt
B-otbie



C:-abe
D:_(abc)%

Correct Answer:- Option-D

Vsinz +vCosT

, b
Quest|0n43:-/@=?
0

Correct Answer:- Option-B
1.1
Question44:- [ [#iza, =7

A:-1

B:-cos 1

C:-1-cos1l

D:-1 +cos 1

Correct Answer:- Option-C

uestion45:- i me-(f«zﬂ?)dm =7
Q / / v

A:-r

ISH

ol

[

O O w

faTs
t 4

Correct Answer:- Option-B
Questi0n46:-wzxy-i-z;a::cost,y:sint,z:t Gﬁgdl (d—”;)t 0=?

A:-0

B:-.

C:-1

D:-2

Correct Answer:- Option-D
Question47:-X = Bﬁgd’,m:z%(x_‘n ® NYF® Ve 0d0T Doroned (critical points)
BRO0RDTI030C?

A:-0

B:-1

C:-0,1

D:-0, 4

Correct Answer:- Option-C



Question48:-y=:+sin=® points of inflection ogs3?

A:-(0, 3)

B:-(5)3

C:-(n3)

D:-3rx

Correct Answer:- Option-C
Question49:-1ea® j«= 8 O ©Fenddss?

Ai-z=2

Bi-c=—2

Ci-s=x2

D:-y=2

Correct Answer:- Option-C
Question50:-s42+3652=2301 BRCR® B FCQR OIS (eccentricity) HVL?

=

O QO w
ol @

Correct Answer:- Option-B
Question51:-7=—37+700 ﬁgos (vector) C,Smgs z esgc&/ao&ﬁ‘ (positive x-axis) evoezano
BRER OYS 2F0?

A:-f

B:-st

C:-1t

D:-

Correct Answer:- Option-B

Question52:-A (0, 0, 4) &3> B(2, 5, 0) Dodoriei Fecom Seadodogds HFORID Foews B
SF0° B GUF) 5 Bt 37 OF ® eI QIRR)T)?

Wiy

Correct Answer:- Option-C
Question53:-i=(2-13),7=(-72-1) D0 BB a"goﬁ nYn 030 ﬁgo‘ ©0WNTS?

A:-(-5,-2,-3)



B:-(-2-5-3)
C:-(-5-19-9)
D:-(-19,-5-3)
Correct Answer:- Option-C
Question54:-5gc6 RDOCTOED 7 = 2c0s17 +3sinir0 < ¢ <27 DOWIBD DCPFRZIVO F3APRIZT. B4

aQ Y )

D336 Bonndrt KowoPABWoZ VBT TR0 WFE [F30300 °D§O?

=

ol
9
r 2
3

-3
E

O O w

.4

Correct Answer:- Option-B
Question55:-2,080 58 (particle) Fz95e03 (circular) HoR0Q wIRER. B 't
BBOBONYQ = =2costy=2sin: TOTVITD SLOHWON BT Fert DFO?

A:-2 Qoee3o® / dots®

B:-3 Qoeeso® / 3%oE®

C:-4 Qoce3o® / #8ow®

D:-5 Qoeedo® / adots®

Correct Answer:- Option-A
Question56:-¢wus = sytvztez DOV IR FIOET STO® Beg, 0dros3i30?

A -(+o)T+Hz+2)T +Hy+o)R
B:-(z+2)7 +(y+2) T +Hz+v)E
Ci-(y+2)T +(z+2)T+(z+v)E
D:-(z+2)7 +(z+9) T +Hy+2)k
Correct Answer:- Option-C
Question57:-2,0030 59638 FPVBD 7 =247 +347+22% QO a"gos gegRor gug3odrenus m§ BOR)
dRI?
e3
A:-2 3N
B:-4 3ré3sned
C:-6 e3sned
D:-8 3éssned

Correct Answer:- Option-C
Question58:-L4 4% 44y —se2- DOV 3epags ZCTOS ADEH Chan 0350IB0?

dz?

A:'%zezf



B:-z2e2e

Ci-20220

D:-4x2e2e

Correct Answer:- Option-D
Question59:-z0¢ Gasdseer V5° oRadgy (Simple Harmonic Motion) @8R « = cos(nt+c)
(Ao ;z(,poaoﬁn%ﬁa") BQCTO W Wi B9 FYNTR)NYY 03FBO FD0Y?

A:-22 1 n2z =0 B0eDT ZAOCTT X3 ?,,Sczpagﬁ AAVCTT 9N

B:-8% 303003 zjezpags AQVeTo £asy) (Differential Equation) 3Q0es0 e TR0
(order) 2

C:-3930033 z,:‘)’ezpagﬁ aoeso e (Differential Equation)sy) dedeodo (nonlinear) S

D:-a3)i¥e) odooBe g

Correct Answer:- Option-C
Question60:-(z+1)% -y =es2(z+1)? ﬁfmgﬁ AeEo e (Differential Equation)d Héested
(Integrating Factor) ©03 0353y30?

A:-z11

B:-Z

Ci-(z+1)?

D

Correct Answer:- Option-B
Question61:-{Lnen 00D zo@.,fzpariwga TOBIHROWDD.

A:-¢
B:-1o
Ci-{1b...
D:-n
Correct Answer:- Option-A
Question62:-3$NSIH)NFS) 0350:)B0 {Enen; RO0dS LUB esNes?

A:-
B:-2
C:-2
D:-co
Correct Answer:- Option-A
Question63:-eRogRone (sequence)d wri 88 FYNBIHNYY 035F)Eo 3D0WY?

A:-{Lnen) DOWIT OB wags 9800 (Null Sequence) SN



B:-{1"nen} D02 €03 (bounded) =oNQ 95 ZQ%)JQJ (convergent) =oNQ
Ci-{en) wddmNE (convergent)
D:-{0™nen} @Q(divergent)a‘aﬁg
Correct Answer:- Option-B
Question64:-9%se3 IFR(Monotone sequence) iy B0 37) BedF0TO TOBIHBOWD.

A:-58398 RIZ=0(Monotone sequence)nied &g @ 83 (increasing or
decreasing)odverods’

B:-330® ©sug=o(Monotone sequence)nigd zo%na)mﬂa" DA :Dz;’)Q (either
converges or diverges)=on:s

C:-2830% ©xog=(Monotone sequence)nisd sodeeonnegdy (Oscillating
sequence)

D:-50038 Hv3em (Bounded Monotone sequences) &ROFRMEd 253000
(convergent)=onss

Correct Answer:- Option-C
Question65:- 1in (5 & SRY 2F0?

A:-c

B:-1

C:-o

D:-v

Correct Answer:- Option-A

-D7; LSx<l,r:1,2, 3.
r+1 r
f@)=10;  x=0
13 x=1.

Question66:-
Faodos-‘wgb [0,1] abcgoédwg? a‘azgmz@semﬁd. f(x) w@ 8% FYNSIHNYY 030080 #0

A:-z=1}5. DoBORYE S398, /T3 F) AC030=NCIZTI

Bi-s=14 " Domongd [9e8, 13030 ) G 030=0NCOR) DY
Ci-s=}5b DoBonYY K098, /T2 VO 030HNCOF) DY
D:-z=1}4... YoBONYY B398, /1T030€ ) AT 03THoNCOR)DY

Correct Answer:- Option-D

Question67:- zisoaeeas‘-do’a%)odws B030€ (FAOCTT )T zorj\ 8% FYNSI)NFY 03000 x0
cbouodﬁb TOBIHLREOD.

A:-930 R0 NN @zs 30352’5(a purely real number)



B:-9m0 RogeeorwoN 50T 30&%(a purely imaginary number)
C:-930 33’9%) 5
D:-9@30 dﬁ%) w3eoQod> Bogj (transcendental number)

Correct Answer:- Option-B
Question68:-8s F¥NSIH)NYY 03503B0 ¢® ar=g?

A:-{zz—2+i|<1}
B:-{zRe(2)>1)
C:-{zi0<arg2)<F)}
D:-{z1<21<2}
Correct Answer:- Option-A
Question69:-8% F¥NII)NY éi)éme—-’oamgﬁ Faodordgb TOEOHEOWD.

A:-fin=7"2eC
B:-jz)=Re(z);zeC
Ci-ro=1zi%zec
D:-jzy=e?zec
Correct Answer:- Option-D
Question70:-2)=Lszec 303@8@5—'-@%)0&1)3 T030F (IAOCTT )T zorj‘ 8% FINSIHNYY 0doeHEo
20 cbouodﬁb TOBIHROWD.
(i) 2rmimez Q0B f(Z) B FoTNT
(ii)  (all poles of f(2)) m;mw(simple poles)ngans
(i) r=® e.')ﬁdﬁ pr o> gm (simE)JIe poles)s) Ei/agi (zero)=oNd.

A:-2300D8 QR 1= 7§ KON
B:-i 8030 ii B508 %0
C:-i o iii S508 0
D:-ii S0 iii &3598 70
Correct Answer:- Option-B
Question71:-tNex® NP Feoxs FFdod> 0dsess ea%”odoﬁb TORBIE BNV BIO?

A:-Bnce®
B:-2033

50
C:-09031ed38 3090
D:-g@&aéeod) Rlerxte)

Correct Answer:- Option-B



Question72:-8 3¥NRYHNYY 0300350 ez ZS,0eTINTon B1 BOHR DecoZu?
A:-Bot3 £ OFf 93D
39
B:-3scwt
C:-x300x0
D:-93)n¥g adoodisse @00 DeCOHDY

Correct Answer:- Option-C
Question73:-3, 5, 2, 10, 2, 4, 7, 0, 1 dezeanen} 0drox3 30070 RATHY?

A:-mmﬂoﬁ

B:-30030

C:-Qpod
D:-o3/00e AT TR0

Correct Answer:- Option-D
Question74:-A iﬁésa"cmgb §30§ z% QA0VZIN BB 5035503‘)‘) esc‘:)zpag 3035&1)3?\63 INCARIRTN
D0V FTBET 303> B @wé’cﬁoﬁb B3 3033:503A) ETA) 303560533ﬁd DOV PIV V0T TSR T, B8
FYND 0d0ox8 BeYF 3D030NT3?

i. AnB=¢

i, (auB) ={1}
A:-i d)ag
B:-ii S0eg

C:-i S0 ii OB 3D0IINGS
D:-i 030 ii dOBSR SN

Correct Answer:- Option-B

Question75:-56% N &s° eagp RORME DN TSAT 03T, OB TG m@o mq)zi)ﬁmﬂ
2F0DNOZH. VFHNTY 2,080 HF° B8N0 B0 BWREEO 2 Do 10 STAT adsesd)cle Fosfodogy
BSOLCOR a,—-’% TG €3N0V 30PRVC03Z DRO?

B:-%

C:-%

D:-&

Correct Answer:- Option-A
Question76:-8% 3¢NT 03003 BeYF ZO03I0NTS?

A:-P(ANB)>P(4)



B:-P(anB)> P(4UB)

C:-P(4nB)< P(4UB)

D:-P(B)<P(4nB)

Correct Answer:- Option-C
Question77:-8% 3YNT SeYINYY 0300J)mo S=aNTS?

i. P(AUB)<P(A)+P(B)
ii. P(ANB)<P(A)+P(B)-1

A:-i 853,
B:-ii S508
C:-i S0 ii 0B 30—-’%
D:-i 2030 ii 0@ 70
Correct Answer:- Option-B
Question78:-239n8s D23e303000 Beeso xe3¢ B Bseew® 20 o mqm?sos 25. 09031330 30030
DRO?
A:-27.5
B:-22.5
C:-23
D:-26
Correct Answer:- Option-A
Question79:-A 303> B pessne M0ATVE OB P e3SNTINGS. P(4)=02,P(B)=03,P(4nB)=05 BOSC S5
YN BePINYY 03503)t30 FD0IINES.
. A S0 B S0z0 ga‘z’ses PE33NLO
i. A>3 B gcéog JOJRE 3N
A:-i o ii OB 3O
B:-i D03 ii 0TS 30—-;3
C:-i S598 7D
D:-ii &09g 70
Correct Answer:- Option-D
Question80:-2080 3@%01);;?, RYOIRTY BB F0&FdIBD F350W 3033603)@@36. 30% RYBOROV

R0 20% R0&F03000 FRFITAND. bewdz%)ﬁmﬂ 3030, S8 %ﬁodoo BRRDIN SIPEET,
90 B0&HLITNCORN F0LIIVC03S DI?

A:-0.6
B:-0.5
C:-0.45



D:-0.4
Correct Answer:- Option-D
Question81:-oim$dz§§ SeD0def X ® 20ISVe0d3 5903 3 TI0ER) HEITE
flx)= {Kef‘; ge;f scdoie
sNGT 7(¥)0d 2363
A:-L
B:-:
C:-!
D:-L
Correct Answer:- Option-B
Question82:-X 8 303330e0303 J3TE030 agdmﬁgd (10, 0.3), Sweoe eaogejew 03093330

A:-6
B:-0.45
C:-0.84
D:-2.1
Correct Answer:- Option-C
Question83:-6§>z§ D30F030 30RO 8 D ?3'%1@ 4. 8 FINSIHNYY 030oRyB0 $0035NCS?
i. €03® NS0T FOTPIY
il @0 Fddeadd gédﬁoimﬁd
iii. e903% T30, n = 18

A:-ii 03 i [0,

B:-i &58,
C:-ii 2098,
D:-iii &508,

Correct Answer:- Option-C
Question84:-5003>n° HITVF0I FRI0edd MNORR) 2 SNGFT, B8 FYNT 0350 BeYBTID
200350N:3?
i, AITFOIV DTCRDIINT
ii. 3T WLbecEe® 8N
iii. J3CF03 30O 1
iv. J30F0 3030 4
A:-i 3598

B:-ii 03 i



C:-iii 03 iv

D:-ii 303 iv

Correct Answer:- Option-D
Question85:-x:30%) x; RN 3 BB 4 V03LT0FMFFY 3,R0BCIN 0B B3R 03563285
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